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Question 4 (25 marks)

x2 - 6x - 23 = 0 ← Write down the values of a, b and c.

a = 1, b = –6, c = –23
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ax2 + bx + c = 0 [page 20]
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← 	 Input into your calculator as shown. 
	 For ± chooose either + or - but put ± back into the answer.

← Write the linear equation (L) in terms of s.

← Replace s in the quadratic equation (Q).

← Factorise the quadratic.

← Solve for s by substituting r into the linear equation (L).

Answers: r = 7, s = 4 and r = 8, s = 6.

2 10 2 10

122

r s r s
rs s
− = ⇒ − =

− =

......( )

....( )

L
Q

r r r
r r r r
r r r

( ) ( )

( ) ( )( )

[

2 10 2 10 12

2 10 2 10 2 10 12

2 10 4

2

2 2

− − − =
− − − − =

− − −− − + =

− − − + − =

− − +

20 20 100 12

2 10 4 40 100 12 0

2 10 4 40

2 2

2 2

r r
r r r r
r r r r

]

[ ]

−− − =

− + − =

− + =
− − =

∴ =
=

100 12 0

2 30 112 0

15 56 0

7 8 0

7 8

7

2

2

r r
r r
r r
r

r s

( )( )

,

: == − = − =
= = − = − =

2 7 10 14 10 4

8 2 8 10 16 10 6

( )

: ( )r s

Question 4 (b)

Sample Paper 2014 (Set F): Paper 1


